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2.2.4
2.3
2.3.1
2.3.2
2.3.3
2.3.4
2.4
@
@)
©)

53
55
55
56
56
57
59
59
59
59
60
61




1
1.1
¢h) :
2 :SKY400
3) tE = 2.000x 10°(kN/m*)
®
------ D500 t12
m G.L. 2.700
m G.L. 2.000
m G.L. 1.200
m G.L. -4.000
m G.L.-16.000
m 18.000
Ao cm’/m 245.33
lo cm‘/m 73067
Z0 cm’/m 2920
A cm’/m 159.47
1 cm‘/m 47493
Z cm’/m 1898
®)
:30
0.300 mm/
0.020 mm/
0.300x 30 = 9.000 mm
0.020x 30 = 0.600 mm
d ):a, = 0.65
(Z ):a: = 0.65
: A=aA = 0.65x 184.00 = 119.60 cm*/
1 = a,l, = 0.65x 54800 = 35620 cm‘/
Z = 0a ;Z, = 0.65x 2190 = 1424 cm*/
1
100. 0 100. 0
0 = = =1.33

D+a 50.00 + 25.00

D (cm)
a (cm)
W e i -

Ao = &A= 1.33X184.00 = 245.33 cm*/m
Wrim2ke— A > b
I, = 61, = 1.33X54800 = 73067 cm'/m
Wi R 2
Zy= 67, = 1.33X2190 = 2920 cm’/m

1

FORUMS8




W A -

A= §A=1.33X119.60 = 159.47 cm’/m
Wrm2kE— A b

I = 61 =1.33X35620 = 47493 cm'/m
W R A

7= 867 =1.33xX1424 = 1898 cm’/m

FORUMS8



1.2
1.2.1
€y
1)
R 61 2700
Wt &1 1960 56
LWL G.L. 0.000 i 'gl
fEiE/KE G L. —4.000 23. 41
.95
=
=
170. 81
Pai = Kui[z Y ihi+ d }
cos f3
cos® ¢ ;
K) T (b 9
sin(<i>;+5 ;)Sin(d) i_B)
cos 6 ;| 1+
cos § icos fB
K. = K’ 4iCOS O ;
cos § isin( ¢+ )
cot(L=B) = ~tan(¢d+ 6 —B)tsec(d i+ 86— B)
cos Bsin(dpi—fB)
Pai = z Y ihi+q*201
o'l 6Lgm Em) g ase | Z g ca Pal Pa2 Z
v () KN/ KN/ KN/ | ()
1 2.700 | 1.500 (18.9 | 24.79 0.0 10.00 | 0.356 3.56 -— 53.404
1.200 14.25 0.0 38.35 | 0.356 13.64 - 53.404
2 1.200 | 0.500 [ 10.5| 24.79 0.0 38.35 0.356 13.64 ———= 53.404
0.700 14.25 0.0 43.60 | 0.356 15.51 -— 53.404
3 0.700 | 0.700 | 10.5 | 33.87 0.0 43.60 0.252 10.98 ——— 59.493
0.000 14.25 0.0 50.95 0.252 12.83 ———= 59.493
4 0.000 | 4.000 | 10.5| 33.87 0.0 50.95 | 0.252 12.83 - 59.493
-4.000 14.25 0.0 92.95 0.252 23.41 ——— 59.493
5 -4.000 | 19.300 | 7.4 0.00 32.0 92.95 | 1.000 28.95 -— 45.000
-23.300 0.00 32.0 234.81 | 1.000 170.81 - 45.000

FORUMS8




2)

Dyi

>
K i

K. =

cot(L—B) = tan(¢i51+B)+sec(¢151+6)w/

205. 86

= Km' [ > Y ihi+

WEmERS 6. L. 2.700

L.W.L G.L. 0.000
HEEKIE  G.L. —4.000
64. 00

cos f3

|

cos® ¢ ;

cos § 1{1\/

sin(¢:=6:)sin(¢:+8)

b
K ,icos 0 ;

Py = X vy hitq+2ce;

cos 0 icos B

}Z

cos §:sin(¢p—§1)

cos Bsin(¢ +3)

No GL(m) (r?]) g KN /;2 > rh+q K Pp 4
y ) kN/m’ P kN/m' | ()
1 -4.000 | 19.300 | 7.4 0.00 32.0 0.00 | 1.000 64.00 | 45.000
-23.300 0.00 32.0 141.86 | 1.000 205.86 | 45.000

FORUMS8




@)
1
RV L G.L. 1.200
LWL G.L.  0.000 5. 05
KEEKEE  G.L. —4.000
No h pw
6L | my | ks
1| 1.200| 0.500 0.00
0.700 5.05
2 0.700 0.700 5.05
0.000 12.12
3| 0.000| 4.000| 12.12
-4.000 12.12
4| -4.00019.300| 12.12
-23.300 12.12
A
KN/ KN/
ot ey |
1 2.700 1.500 —_—— 3.56 0.00 3.56
1.200 —- 13.64 0.00 13.64
2|  1.200| 0.500 —- 13.64 0.00 13.64
0.700 —_—— 15.51 5.05 20.56
3| 0.700| 0.700 —- 10.98 5.05 16.03
0.000 —- 12.83 12.12 24.95
4| 0.000| 4.000 —- 12.83 12.12 24.95
-4.000 —- 23.41 12.12 35.53
5 -4.000 | 19.300 64.00 28.95 12.12 41.07
-23.300 205.86 170.81 12.12 182.93

12. 12

12. 12

12. 12

FORUMS8




1.2.2
@
1
K G L. 2700
X N O (0N N % 36
LVW.L G.L. 0.000 b‘%ﬁ%
EEKE G L. —4.000 91. 80
.95
=
=
=
=
154. 81
= K > ihi+
P [ i cos f3 }
cos® ¢ ;
K) ai — ¢ -
sin(d)ﬁ'@ i)Sin((f)i_B)
cos 0 ;| 1+
cos § icos fB
K. = K .cosd;
cos & isin(¢p+d )
cot (£ =B) = —tan( ¢+ 86— B)+sec(p+6:—B)
cos Bsin(¢i—B)
Pai = Z Y ih1+q_20i
No 'l GL(m) ?m) 3 wom | = rheg ca Pal Pa2 Z
v () kN/m? KN/’ KN/’ )
1 2.700 1.500 | 18.9 26.14 0.0 10.00 0.336 3.36 ——— 54.202
1.200 15.00 0.0 38.35 0.336 12.90 ———= 54.202
2 1.200 | 0.500 | 10.5 | 26.14 0.0 38.35 | 0.336 12.90 - 54.202
0.700 15.00 0.0 43.60 0.336 14.67 ——— 54.202
3 0.700 | 0.700 [ 10.5| 35.50 0.0 43.60 | 0.235 10.23 -— 60.402
0.000 15.00 0.0 50.95 | 0.235 11.95 - 60.402
4 0.000 4.000 | 10.5 35.50 0.0 50.95 0.235 11.95 ———= 60.402
-4.000 15.00 0.0 92.95 | 0.235 21.80 -— 60.402
5 -4.000 | 19.300 | 7.4 0.00 40.0 92.95 1.000 12.95 ——— 45.000
-23.300 0.00 40.0 234.81 1.000 154.81 ———= 45.000

FORUMS8




2)

K. =

cot(L—B) = tan(¢i51+B)+sec(¢151+6)w/

WEmERS 6. L. 2.700

b
K ,icos § ;

Py = 2 vy hitg+2e;

L.W.L. G.L. 0.000
REEKEE G L. —4.0Q0
80. 00
221. 86
= Km’ 2 ihi+
[ v cos f3 }
B cos’ ¢ ;
sin(¢ =8 :)sin( ¢+ ) ’
cos 6 ;| 1-
cos 0 icos B

cos 0 1Sin(¢)1_5 1)

cos Bsin( ¢+ B)

No GL(m) h g c |= rh+q Pp 4
(m) % () kN/m KN/m? Kp KN/ )
1 -4.000 | 19.300 | 7.4 0.00 40.0 0.00 | 1.000 80.00 [ 45.000
-23.300 0.00 40.0 141.86 | 1.000 221.86 | 45.000

FORUMS8



@)
1
RV L G.L. 1.200
TW.T G.L. 0.000 5. 05
REEKEE G L. —4.000
No h pw
6L | )y | KN/
1| 1.200| 0.500 0.00
0.700 5.05
2| 0.700| 0.700 5.05
0.000 12.12
3| 0.000| 4.000| 12.12
-4.000 12.12
4| -4.00019.300| 12.12
-23.300 12.12
A
KN/ KN/
ot ey |
1| 2.700| 1.500 - 3.36 0.00 3.36
1.200 —- 12.90 0.00 12,90
2|  1.200| 0.500 —- 12.90 0.00 12.90
0.700 - 14.67 5.05 19.72
3| 0.700| 0.700 —- 10.23 5.05 15.28
0.000 —- 11.95 12.12 24.07
4| 0.000| 4.000 —- 11.95 12.12 24.07
-4.000 —- 21.80 12.12 33.02
5| -4.000 | 19.300 80.00 12.95 12.12 25.07
-23.300 221.86 154.81 12.12 166.93
1.2.3
€H)
1
(  =2.760m G.L.-6.760m)

12. 12

12. 12

12. 12

FORUMS8




(kN.m/m) (kN/m)
(Ma) 1359.00 (Pa) 285.22
(Mp) 1359.37 | (Pp) 204.63
y ax Ma 1.00x 1359.00 =  1359.00(kN.m/m)
2)
m (G.L.  2.700)m
m (G.L. 2.000)m
m (G.L. -4.000)m
m (G-L. -16.000)m
( ) m 18.700
( - ) m 18.000
( - ) m 12.000
2. 700 2. 700
S
13030 odS
N[84095 ==
24. 95 o
(]
[}
<
<
-4, 000 135. 53
~ 64. OO/ \<11.07
/ \
/ \
/ \
/ \
/ \
// \\
S / \ S
a / \ o
/ \
/ \
/
/
/ \
/ \
// \\
152. 2¢ \ 129, 27
(kN.m/m) (kN/m)
(Ma) 12921.30 (Pa) 1165.91
(Mp)  15587.04 | (Pp) 1297.20
y ax Ma 1.00x  12921.30 = 12921.30(kN.m/m)
Mp vy ax Ma 15587.04 12921.30 ...0K
3) ( )
pl p2 h = (p1 p2)x h/2
=( ) (W/3)x (pl 2x p2)/(pl p2)
No h pa Pa y Ma
6L | my | ks KN/m m KN.m/m
1 1.200 | 0.500 13.64 8.55 0.267 2.28
0.700 20.56

FORUMS8



- 10 -

No h pa Pa y Ma
GLaM | ) | ke KN/m n KN.m/m
2 0.700 | 0.700 16.03 14.34 0.875 12.56
0.000 24.95
3 0.000 | 4.000 24.95 | 120.97 3.317 401.21
-4.000 35.53
4| -4.000 | 12.000 41.07 | 1022.04 | 12.236 | 12505.25
-16.000 129.27
s 1165.91 12921.30
No h pp Pp y Mp
GLaM | ) | ks KN/m m KN.m/m
1| -4.000 | 12.000 64.00 | 1297.20 | 12.016 | 15587.04
-16.000 152.20
b3 1297.20 15587.04
@
1)
2. 700 2. 700
Tiﬁﬁi\\\\\ =
12.90 . __ S
1o 1J. 1742 =PLo
TThes— 24.07 ~Ps
%4, 07 S
(e}
o
[}
- <
4, oooA S ol 33.92
S

FORUMS8



- 11 -

2)

m (G.L. 2.700)m
m (G.L. 1.200)m
m (G.L. -4.000)m
m 5.200
Mmax kN.m/m 88.52
) m 2.800(G.L. -1.600)m
Smax kN/m 75.22
) m 5.200(G.L. -4.000)m
RA kN/m 74.88
RB kN/m 75.22
O max m 0.0017
( ) ) m 2.600(G.L. -1.400)m
Vot ey | )
(KN/m*) (KN/m*) (KN/m*)
1 2.700 | 1.500 0.00 3.36 3.36
1.200 0.00 12.90 12.90
2 1.200 | 0.500 0.00 12.90 12.90
0.700 0.00 19.72 19.72
3 0.700 | 0.700 0.00 15.28 15.28
0.000 0.00 24.07 24.07
4 0.000 | 4.000 0.00 24.07 24.07
-4.000 0.00 33.92 33.92

FORUMS8




- 12 -

1.2.4
D
2. 700 2%700
. b6 S
13, 64 =
NTAVYNS =0
< &5 =P
= 24. 95 o
e}
e}
[}
<
—4. 000 35. 53
~ 64.09’ M1, 07
[ [
“ =
T T
101. 9¢/ 78. 97
m (G.L. 2.700)m
m (G.L. 2.000)m
m (6.L. 1.200)m
m (6.L. -4.000)m
m (G.L. -9.157)m
m (G.L. -16.000)m
( - ) m 18.700
( - ) m 18.000
- ) m 12.000
D m 5.157
y a m 1.00
y ax D m 5.157(G.L. -9.157)m
12.000 5.157...0K
Mmax kN.m/m 120.40
m 3.000(G.L. -1.800)m
Mmin kN.m/m -52.72
m 8.000(G.L. -6.800)m
M=0 ( m 6.055(G.L. -4.855)m
RA kN/m 87.91
RB kN/m -49.39
o max m 0.0045
( ) ( m 3.500(G.L. -2.300)m
@
[
X
(m (m
1 0.0000 2.7000
2 0.0000 2.2000
3 0.0000 1.7000
4 0.0000 1.2000
5 0.0000 0.7000
6 0.0000 0.2000
7 0.0000 0.0000
8 0.0000 -0.3000

FORUMS8




- 13 -

X Y
(m) (m)

9 0.0000 -0.8000

10 0.0000 -1.3000

11 0.0000 -1.8000

12 0.0000 -2.3000

13 0.0000 -2.8000

14 0.0000 -3.3000

15 0.0000 -3.8000

16 0.0000 -4.0000

17 0.0000 -4.3000

18 0.0000 -4.8000

19 0.0000 -5.3000

20 0.0000 -5.8000

21 0.0000 -6.3000

22 0.0000 -6.8000

23 0.0000 -7.3000

24 0.0000 -7.8000

25 0.0000 -8.3000

26 0.0000 -8.8000

27 0.0000 -9.1570

E(KN/m?) a(/ )
1 2.000000E+008 0.000000E+000
2
A(M*) 1(m%)
1 2.453333E-002 7.306667E-004
i ] (m)

1 1 2 0.5000 1 1
2 2 3 0.5000 1 1
3 3 4 0.5000 1 1
4 4 5 0.5000 1 1
5 5 6 0.5000 1 1
6 6 7 0.2000 1 1
7 7 8 0.3000 1 1
8 8 9 0.5000 1 1
9 9 10 0.5000 1 1
10 10 11 0.5000 1 1
11 11 12 0.5000 1 1
12 12 13 0.5000 1 1
13 13 14 0.5000 1 1
14 14 15 0.5000 1 1
15 15 16 0.2000 1 1
16 16 17 0.3000 1 1
17 17 18 0.5000 1 1
18 18 19 0.5000 1 1
19 19 20 0.5000 1 1
20 20 21 0.5000 1 1
21 21 22 0.5000 1 1
22 22 23 0.5000 1 1
23 23 24 0.5000 1 1
24 24 25 0.5000 1 1
25 25 26 0.5000 1 1
26 26 27 0.3570 1 1

FORUMS8




- 14 -

i
Ky K. K,
(kN/m) (KN/m) (KN.m/rad)
4 Y
27
[1]
L
[1]
i j ,
(kN/m, (kN/m,
KN m/m) | KN m/m) (m (m
X 1 3 -3.56 13.64 | 0.000 |  0.000
X 4 4 -13.64 -20.56 | 0.000 |  0.000
X 5 6 -16.03 -24.95| 0.000 |  0.000
X 7 15 24.95 35.53| 0.000| 0.000
X 16 26 41.07 78.97 | 0.000 |  0.000
X 16 26 64.00 101.90 |  0.000 |  0.000

FORUMS8



- 15 -

®
D
«(mm) o v(mm) o » (mrad)
1 2.98537 0.00000 -1.98488
2 1.99285 0.00000 -1.98551
3 0.99909 0.00000 -1.99086
4 0.00000 0.00000 -2.00828
5 -1.00037 0.00000 -1.97295
6 -1.95397 0.00000 -1.82375
7 -2.31018 0.00000 -1.73586
8 -2.80796 0.00000 -1.57773
9 -3.51902 0.00000 -1.25567
10 -4.05471 0.00000 -0.88014
11 -4.39420 0.00000 -0.47489
12 -4.52877 0.00000 -0.06474
13 -4.46245 0.00000 0.32431
14 -4.21249 0.00000 0.66515
15 -3.81003 0.00000 0.92954
16 -3.61604 0.00000 1.00735
17 -3.30045 0.00000 1.08991
18 -2.73777 0.00000 1.14477
19 -2.17008 0.00000 1.11321
20 -1.63569 0.00000 1.01485
21 -1.16309 0.00000 0.86929
22 -0.77099 0.00000 0.69616
23 -0.46826 0.00000 0.51506
24 -0.25399 0.00000 0.34561
25 -0.11744 0.00000 0.20743
26 -0.03808 0.00000 0.12012
27 0.00000 0.00000 0.09977

FORUMS8




- 16 -

| |
2.98537
~4. 52877
2)
(n) MCKN.m) S(kN) NCKN)

1( 1- 2) |i 0.000 0.000 0.000 0.000

j 0.500 -0.585 -2.619 0.000

2( 2- 3) |1 0-000 -0.585 -2.619 0.000

j 0.500 -2.900 -6.920 0.000

3 3- 4|1 0.000 -2.900 -6.920 0.000

j 0.500 -7.785 -12.901 0.000

4C 4- 5) |1 0-000 -7.785 75.009 0.000

j 0.500 27.726 66.457 0.000

5( 5- 6) |1 0.000 27.726 66.457 0.000

j 0.500 58.685 56.848 0.000

6( 6- 7) |1 0-000 58.685 56.848 0.000

j 0.200 69.589 52.112 0.000

7C 7- 8) |1 0.000 69.589 52.112 0.000

j 0.300 84.088 44507 0.000

8( 8- 9) |1 0-000 84.088 44.507 0.000

j 0.500 103.068 31.303 0.000

9( 9- 10) | i 0.000 103.068 31.303 0.000

j 0.500 115.281 17.438 0.000

10( 10- 11) | i 0-000 115.281 17.438 0.000
j 0.500 120.396 2.912 0.000

11( 11- 12) | i 0.000 120.396 2.912 0.000
j 0.500 118.083 -12.276 0.000

12( 12- 13) | i 0-000 118.083 -12.276 0.000
j 0.500 108.010 -28.125 0.000

FORUMS8




- 17 -

) MCKN.m) S(kN) NCKN)
13( 13- 14) | i 0.000 108.010 ~28.125 0.000
j 0.500 89.848 ~44.635 0.000
14( 14- 15) | i 0.000 89.848 -44.635 0.000
j 0.500 63.265 ~61.806 0.000
15( 15- 16) | i 0.000 63.265 -61.806 0.000
j 0.200 50.200 -68.859 0.000
16( 16- 17) | i 0.000 50.200 -68.859 0.000
j 0.300 30.574 ~61.980 0.000
17( 17- 18) | i 0.000 30.574 -61.980 0.000
j 0.500 2.450 -50.515 0.000
18( 18- 19) | i 0.000 2.450 -50.515 0.000
j 0.500 -19.941 ~39.050 0.000
19( 19- 20) | i 0.000 -19.941 ~39.050 0.000
j 0.500 -36.600 -27.585 0.000
20( 20- 21) | i 0.000 -36.600 -27.585 0-000
j 0.500 -47.526 ~16.120 0.000
21( 21- 22) |1 0.000 -47.526 -16.120 0.000
j 0.500 -52.720 -4.655 0.000
22( 22- 23) | i 0.000 -52.720 -4.655 0.000
j 0.500 -52.182 6.810 0.000
23( 23- 24) |1 0.000 -52.182 6.810 0.000
j 0.500 -45.911 18.275 0.000
24( 24- 25) | i 0.000 -45.911 18.275 0.000
j 0.500 -33.907 29.740 0.000
25( 25- 26) | 0.000 -33.907 29.740 0.000
j 0.500 -16.171 41.205 0.000
26( 26- 27) | i 0.000 -16.171 41.205 0.000
j 0.357 0.000 49.391 0.000

FORUMS8




- 18 -

120. 396

-52.720

FORUMS8




- 19 -

—68. 85%

FORUMS8




- 20 -

1.3 ( )
1.3.1
€y
1
FEANE G. L. 2.700
i3 o o
= 42,3
L.W.L. G.L. 0.000 =k
3077
fEiE/KE G L. —4.000 26. 28
38,63
=
141. 20
“A4. 00
139. 10
pm = Kui[z V whi+ q }
cos f3
) cos”(¢ =0 )
K Al = 2
Sin(¢j+6j)sin((;b17876 i)
cos 0 icos(§+0 ) |1+
cos(§+0)cosp
K. = K .icos
cos(§:+0:)sin(p:i+61)
cot (L —B) = —tan( ¢+ 6~ B)+sec(dp;+d:—B)
cosfBsin(¢—B-0)
HEECTH F10mPL i :
(Z Vihi+q)Sin(Cai+61) Ci
Pei = cos 0 sin{ . cos & wsin{
Y v hit2
Ca = tanlJl—(y—q) tan 0 ;
2Ci
Y JES T T 10mPAIAR
pai = X vy ihitq—2¢;
o'l 6Lem Qm) g acr (| K 0 ca Pal Pa2 4
v () KN/ () KN/ kN/E | ()
1 2.700 1.500 [ 18.0 | 30.00 0.0 5.00 0.14 | 7.970 | 0.385 1.93 ——— 49.201
1.200 15.00 0.0 | 32.00 0.14 | 7.970 | 0.385 12.33 -—— 49.201
2 1.200 | 0.500 | 10.0 | 30.00 0.0| 32.00 0.15 | 8.539 | 0.394 12.59 ——— 48.572
0.700 15.00 0.0 | 37.00 0.15| 8.539 | 0.394 14.56 ——— 48.572

FORUMS8




- 21 -

2)

No h ¢ c
GL(m) o) > | Z rh+q K 0 Pal Pa2
M LYy |y |k ()| * KN/ ke | C)
3 0.700 | 0.700 [ 10.0 | 40.00 0.0 | 37.00 0.17 | 9.614 | 0.286 10.57 -—— 55.499
0.000 15.00 0.0 | 44.00 0.17 | 9.614 | 0.286 12.57 -—— 55.499
4 0.000 4.000 | 10.0 40.00 0.0 | 44.00 0.21 (11.860 | 0.313 13.77 ——— 53.423
-4.000 15.00 0.0 | 84.00 0.21]11.860 | 0.313 26.28 -—— 53.423
5 -4.000 | 10.000 | 7.0 0.00 40.0 | 84.00 0.28 | 15.492 | 1.000 30.63 -—— 39.748
-14.000 0.00 40.0 | 154.00 0.28 | 15.492 1.000 141.20 ——— 25.305
6| -14.000 | 9.300( 7.0 0.00 40.0 | 154.00 0.00 | 0.000| 1.000 74.00 -—— 45.000
-23.300 0.00 40.0 | 219.10 0.00 | 0.000| 1.000 139.10 -—— 45.000
SR 61 2 700
Bt g 1948
L.W.L. G.L. 0.000
KR G L. —4.0Q0
80. 00
215. 10
Pri = K.,;[Z Y ihit d }
cos BB
) COSZ( d) i 6 i)
K pi = 2
sin((ba—ﬁ i)sin(d) a+B‘6 i)
cos 0 icos(6:—0:)|1-
cos(§i—0i)cosp
Km' = K’ piCOS 6 i
cos(§—0:)sin(p:—6 )
cot(L—B) = tan(¢p =6+ B)+sec(p—6+tB)
cosBsin(¢+B-0)
Ppi = pX v shitq+2c;
Nol eLgmy | 3 ., |srhiq| K 0 Pp Z
(m) y ) kN/m K/ ) Kp KN/ D)
1 -4.000 | 19.300| 7.0 0.00 40.0 0.00 0.34|18.778 | 1.000 80.00 | 45.000
-23.300 0.00 40.0 | 135.10 0.34|18.778 | 1.000 215.10 | 45.000

FORUMS8




- 22 -

@
1
R.W.L G.L. 1.200
LWL G.L. 0.000 5. 05
REEKEE G L. —4.000
No h pw
6L | )y | KN/
1 1.200 | 0.500 0.00
0.700 5.05
2 0.700 | 0.700 5.05
0.000 12.12
3 0.000 | 4.000 12.12
-4.000 12.12
4| -4.000 | 10.000 12.12
-14.000 12.12
5| -14.000 | 9.300 12.12
-23.300 12.12
2)
7
Paw = gkh 0 wgm
Pa (KN/n?)
kh:
P .g: (KN/m?)
y: (m
H: (m)
No pdw
GL(m) kN/mz
1 0.000 0.00
2| -0.100 0.78
3| -0.200 1.11
4| -0.300 1.36

12. 12

12. 12

12. 12

12. 12

FORUMS8
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ol oLy | A
5| -0.400 1.57
6| -0.500 1.75
7| -0.600 1.92
8| -0.700 2.07
o| -0.800 2.21
10| -0.900 2.35
11| -1.000 2.47
12| -1.100 2.60
13| -1.200 2.71
14| -1.300 2.82
15| -1.400 2.93
16| -1.500 3.03
17| -1.600 3.13
18] -1.700 3.23
19| -1.800 3.32
20| -1.900 3.41
21| -2.000 3.50
22| -2.100 3.59
23| -2.200 3.67
24| -2.300 3.75
25| -2.400 3.83
26| -2.500 3.91
27| -2.600 3.99
28| -2.700 4.07
29| -2.800 4.14
30| -2.900 4.21
31| -3.000 4.29
32| -3.100 4.36
33| -3.200 4.43
34| -3.300 4.50
35| -3.400 4.56
36| -3.500 4.63
37| -3.600 4.70
38| -3.700 4.76
39| -3.800 4.82
40| -3.900 4.89
41| -4.000 4.95

FORUMS8
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@A)
(kN/m?) (KN/T?)

NotoLemy |
1 2.700 1.500 —_— 1.93 0.00 0.00 1.93
1.200 —_—— 12.33 0.00 0.00 12.33
2 1.200 0.500 —_— 12.59 0.00 0.00 12.59
0.700 —_— 14 .56 5.05 0.00 19.61
3 0.700 0.700 _— 10.57 5.05 0.00 15.62
0.000 —_— 12.57 12.12 0.00 24.69
4 0.000 0.100 —_—— 13.77 12.12 0.00 25.89
-0.100 _— 14.08 12.12 0.78 26.98
5 -0.100 0.100 —_— 14.08 12.12 0.78 26.98
-0.200 —-— 14.39 12.12 1.11 27.62
6 -0.200 0.100 —_— 14.39 12.12 1.11 27.62
-0.300 —_— 14.71 12.12 1.36 28.18
7 -0.300 0.100 _— 14.71 12.12 1.36 28.18
-0.400 —_— 15.02 12.12 1.57 28.70
8 -0.400 0.100 —_—— 15.02 12.12 1.57 28.70
-0.500 _— 15.33 12.12 1.75 29.20
9 -0.500 0.100 —_— 15.33 12.12 1.75 29.20
-0.600 —_—— 15.65 12.12 1.92 29.68
10 -0.600 0.100 —_— 15.65 12.12 1.92 29.68
-0.700 —_— 15.96 12.12 2.07 30.15
11 -0.700 0.100 _— 15.96 12.12 2.07 30.15
-0.800 —_— 16.27 12.12 2.21 30.60
12 -0.800 0.100 —-— 16.27 12.12 2.21 30.60
-0.900 _— 16.58 12.12 2.35 31.05
13 -0.900 0.100 —_— 16.58 12.12 2.35 31.05
-1.000 —-— 16.90 12.12 2.47 31.49
14 -1.000 0.100 —_— 16.90 12.12 2.47 31.49
-1.100 —_— 17.21 12.12 2.60 31.93
15 -1.100 0.100 _— 17.21 12.12 2.60 31.93
-1.200 —_— 17.52 12.12 2.71 32.35
16 -1.200 0.100 —-— 17.52 12.12 2.71 32.35
-1.300 _— 17.84 12.12 2.82 32.78
17 -1.300 0.100 —_— 17.84 12.12 2.82 32.78
-1.400 —-— 18.15 12.12 2.93 33.20
18 -1.400 0.100 —_— 18.15 12.12 2.93 33.20
-1.500 —_— 18.46 12.12 3.03 33.61
19 -1.500 0.100 _— 18.46 12.12 3.03 33.61
-1.600 —_— 18.77 12.12 3.13 34.02
20 -1.600 0.100 —-— 18.77 12.12 3.13 34.02
-1.700 _— 19.09 12.12 3.23 34.43
21 -1.700 0.100 —_— 19.09 12.12 3.23 34.43
-1.800 —-— 19.40 12.12 3.32 34.84
22 -1.800 0.100 —_— 19.40 12.12 3.32 34.84
-1.900 —_—— 19.71 12.12 3.41 35.24
23 -1.900 0.100 _— 19.71 12.12 3.41 35.24
-2.000 —_— 20.03 12.12 3.50 35.65
24 -2.000 0.100 —_—— 20.03 12.12 3.50 35.65
-2.100 _— 20.34 12.12 3.59 36.05
25 -2.100 0.100 —_— 20.34 12.12 3.59 36.05
-2.200 —-— 20.65 12.12 3.67 36.44

FORUMS8
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(kN/m?) (kN/m?)
NoleLamy | m
26 -2.200 0.100 _— 20.65 12.12 3.67 36.44
-2.300 —_— 20.97 12.12 3.75 36.84
27 -2.300 0.100 —_—— 20.97 12.12 3.75 36.84
-2.400 _— 21.28 12.12 3.83 37.23
28 -2.400 0.100 —_— 21.28 12.12 3.83 37.23
-2.500 —-—— 21.59 12.12 3.91 37.62
29 -2.500 0.100 —_— 21.59 12.12 3.91 37.62
-2.600 —_— 21.90 12.12 3.99 38.01
30 -2.600 0.100 _— 21.90 12.12 3.99 38.01
-2.700 —_— 22.22 12.12 4.07 38.40
31 -2.700 0.100 —-—— 22.22 12.12 4.07 38.40
-2.800 _— 22.53 12.12 4.14 38.79
32 -2.800 0.100 —_— 22.53 12.12 4.14 38.79
-2.900 —-—— 22.84 12.12 4.21 39.18
33 -2.900 0.100 —_— 22.84 12.12 4.21 39.18
-3.000 —_— 23.16 12.12 4.29 39.56
34 -3.000 0.100 _— 23.16 12.12 4.29 39.56
-3.100 —_— 23.47 12.12 4.36 39.95
35 -3.100 0.100 —_—— 23.47 12.12 4.36 39.95
-3.200 _— 23.78 12.12 4._43 40.33
36 -3.200 0.100 —_— 23.78 12.12 4.43 40.33
-3.300 —-—— 24.09 12.12 4.50 40.71
37 -3.300 0.100 —_— 24.09 12.12 4.50 40.71
-3.400 —_—— 24.41 12.12 4.56 41.09
38 -3.400 0.100 _— 24 .41 12.12 4_56 41.09
-3.500 —_— 24.72 12.12 4.63 41 .47
39 -3.500 0.100 —-—— 24.72 12.12 4.63 41 .47
-3.600 _— 25.03 12.12 4.70 41.85
40 -3.600 0.100 —_— 25.03 12.12 4.70 41.85
-3.700 —-—— 25.35 12.12 4.76 42 .23
41 -3.700 0.100 —_— 25.35 12.12 4.76 42 .23
-3.800 —_— 25.66 12.12 4.82 42 .60
42 -3.800 0.100 _— 25.66 12.12 4.82 42 .60
-3.900 —_— 25.97 12.12 4.89 42 .98
43 -3.900 0.100 —_—— 25.97 12.12 4.89 42 .98
-4.000 _— 26.28 12.12 4_95 43.35
44 -4.000 | 10.000 80.00 30.63 12.12 0.00 42.75
-14.000 150.00 141.20 12.12 0.00 153.32
45 -14.000 9.300 150.00 74.00 12.12 0.00 86.12
-23.300 215.10 139.10 12.12 0.00 151.22

FORUMS8
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1.3.2
€))
1
FAE ARG G. L. 2.700
X 8 E— i s 11| P
LWL G.L. 0000~ d%gﬁ
4,23
&K G L. —4.000 27.94
.61
=
=
=
148. 95
81, 45
149. 81
Pai = Kai{z vy ihi+ d }
cos f3
cos’ (¢ =0 1)
K. =
Sin(¢j+51)sin(¢)17676 i)
cos 0 icos(6+0 ) |1+
cos(§+0)cosf
K. = K .icos § ;
cos(6+0)sin( i+ 6 1)
cot (L =B) = —tan( ¢+ 6~ B)+sec(dp;td:—B)
cosBsin(¢p—B-0)
Y JEC T T 10mA v -
(Z V1h1+Q)Sin(Cui+61) Ci
Po ™ cos B sin{ cos { asinl a
(= tanl\/l—(yiq) tan 0 ;
2Ci
HEJEC TR T 10mAT% :
Pai = z Y ihi+q_2Ci
Not GLqm) ?m) 8 wse || K 6 ‘a Pal Pa2 Z
v () KN/ () KN/ kN | )
1 2.700 | 1.500 | 18.9 | 30.00 0.0 5.00 0.14 | 7.970 | 0.385 1.93 -—— 49.201
1.200 15.00 0.0 | 33.35 0.14 7.970 | 0.385 12.86 ——— 49.201
2 1.200 | 0.500 | 10.5 | 30.00 0.0| 33.35 0.15| 8.514| 0.393 13.11 -—— 48.601
0.700 15.00 0.0 | 38.60 0.15| 8.514| 0.393 15.18 -—— 48.601

FORUMS8
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2)

No h ¢ c
GL(m) o) > | Z rh+q K 0 Pal Pa2
M LYy |y |k ()| *@ KN/ kv | C)
3 0.700 | 0.700 | 10.5| 40.00 0.0 | 38.60 0.17 | 9.529 | 0.285 10.99 -—— 55.574
0.000 15.00 0.0 | 45.95 0.17 | 9.529 | 0.285 13.09 -—— 55.574
4 0.000 4.000 | 10.5 40.00 0.0 | 45.95 0.21 | 11.605 0.310 14.23 ——— 53.665
-4.000 15.00 0.0 | 87.95 0.21|11.605| 0.310 27.24 -—— 53.665
5 -4.000 | 10.000 | 7.4 0.00 40.0 | 87.95 0.27 | 14.843 | 1.000 34.61 -—— 39.758
-14.000 0.00 40.0 | 161.45 0.27 | 14.843 1.000 148.95 ——— 25.237
6| -14.000 | 9.300( 7.4 0.00 40.0 | 161.45 0.00 | 0.000| 1.000 81.45 -—— 45.000
-23.300 0.00 40.0 | 229.81 0.00 | 0.000| 1.000 149.81 -—— 45.000
SR 61 2 700
Bt g 1948
L.W.L. G.L. 0.000
KR G L. —4.0Q0
80. 00
221. 86
Pri = K.,;[Z Y ihit d }
cos BB
) COSZ( d) i 6 i)
K pi = 2
sin((ba—ﬁ i)sin((b +B -0 i)
cos 0 icos(6:—0:)|1-
cos(§i—0i)cosp
Km' = K’ piCOS 6 i
cos(§—0:)sin(p:—6 )
cot(L—B) = tan(¢p =6+ B)+sec(p—6+tB)
cosBsin(¢+B-0)
Ppi = pX v shitq+2c;
Nol eLgmy | 3 ., |srhiq| K 0 Pp Z
(m) y ) kN/m K/ () Kp KN/ D)
1 -4.000 | 19.300 | 7.4 0.00 40.0 0.00 0.32 | 17.659 | 1.000 80.00 | 45.000
-23.300 0.00 40.0 | 141.86 0.32 | 17.659 | 1.000 221.86 | 45.000

FORUMS8
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@
1
R.W.L G.L. 1.200
LVW.T G.T. 0.000 5. 05
REEKEE G L. —4.000
No h pw
6L | )y | KN/
1 1.200 | 0.500 0.00
0.700 5.05
2 0.700 | 0.700 5.05
0.000 12.12
3 0.000 | 4.000 12.12
-4.000 12.12
4| -4.000 | 10.000 12.12
-14.000 12.12
5| -14.000 | 9.300 12.12
-23.300 12.12
2)
7
Paw = gkh 0 wgm
Pa (KN/n?)
kh:
P .g: (KN/m?)
y: (m
H: (m)
No pdw
GL(m) kN/mz
1 0.000 0.00
2| -0.100 0.78
3| -0.200 1.11
4| -0.300 1.36

12. 12

12. 12

12. 12

12. 12

FORUMS8
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ol oLy | A
5| -0.400 1.57
6| -0.500 1.75
7| -0.600 1.92
8| -0.700 2.07
o| -0.800 2.21
10| -0.900 2.35
11| -1.000 2.47
12| -1.100 2.60
13| -1.200 2.71
14| -1.300 2.82
15| -1.400 2.93
16| -1.500 3.03
17| -1.600 3.13
18] -1.700 3.23
19| -1.800 3.32
20| -1.900 3.41
21| -2.000 3.50
22| -2.100 3.59
23| -2.200 3.67
24| -2.300 3.75
25| -2.400 3.83
26| -2.500 3.91
27| -2.600 3.99
28| -2.700 4.07
29| -2.800 4.14
30| -2.900 4.21
31| -3.000 4.29
32| -3.100 4.36
33| -3.200 4.43
34| -3.300 4.50
35| -3.400 4.56
36| -3.500 4.63
37| -3.600 4.70
38| -3.700 4.76
39| -3.800 4.82
40| -3.900 4.89
41| -4.000 4.95

FORUMS8
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@A)
(kN/m?) (KN/T?)

NotoLemy |
1 2.700 1.500 —_— 1.93 0.00 0.00 1.93
1.200 —_—— 12.86 0.00 0.00 12.86
2 1.200 0.500 —_— 13.11 0.00 0.00 13.11
0.700 —_— 15.18 5.05 0.00 20.23
3 0.700 0.700 _— 10.99 5.05 0.00 16.04
0.000 —_— 13.09 12.12 0.00 25.21
4 0.000 0.100 —_—— 14.23 12.12 0.00 26.35
-0.100 _— 14 .56 12.12 0.78 27 .46
5 -0.100 0.100 —_— 14 .56 12.12 0.78 27.46
-0.200 —-— 14 .88 12.12 1.11 28.11
6 -0.200 0.100 —_— 14 .88 12.12 1.11 28.11
-0.300 —_— 15.21 12.12 1.36 28.68
7 -0.300 0.100 _— 15.21 12.12 1.36 28.68
-0.400 —_— 15.53 12.12 1.57 29.22
8 -0.400 0.100 —_—— 15.53 12.12 1.57 29.22
-0.500 _— 15.86 12.12 1.75 29.73
9 -0.500 0.100 —_— 15.86 12.12 1.75 29.73
-0.600 —-— 16.18 12.12 1.92 30.22
10 -0.600 0.100 —_— 16.18 12.12 1.92 30.22
-0.700 —_— 16.51 12.12 2.07 30.70
11 -0.700 0.100 _— 16.51 12.12 2.07 30.70
-0.800 —_— 16.83 12.12 2.21 31.16
12 -0.800 0.100 —-— 16.83 12.12 2.21 31.16
-0.900 _— 17.16 12.12 2.35 31.62
13 -0.900 0.100 —_— 17.16 12.12 2.35 31.62
-1.000 —-— 17.48 12.12 2.47 32.08
14 -1.000 0.100 —_— 17.48 12.12 2.47 32.08
-1.100 —_— 17.81 12.12 2.60 32.52
15 -1.100 0.100 _— 17.81 12.12 2.60 32.52
-1.200 —_— 18.13 12.12 2.71 32.96
16 -1.200 0.100 —-— 18.13 12.12 2.71 32.96
-1.300 _— 18.46 12.12 2.82 33.40
17 -1.300 0.100 —_— 18.46 12.12 2.82 33.40
-1.400 —_—— 18.78 12.12 2.93 33.83
18 -1.400 0.100 —_— 18.78 12.12 2.93 33.83
-1.500 —_— 19.11 12.12 3.03 34.26
19 -1.500 0.100 _— 19.11 12.12 3.03 34.26
-1.600 —_— 19.43 12.12 3.13 34.68
20 -1.600 0.100 —_—— 19.43 12.12 3.13 34.68
-1.700 _— 19.76 12.12 3.23 35.10
21 -1.700 0.100 —_— 19.76 12.12 3.23 35.10
-1.800 —_—— 20.08 12.12 3.32 35.52
22 -1.800 0.100 —_— 20.08 12.12 3.32 35.52
-1.900 —_— 20.41 12.12 3.41 35.94
23 -1.900 0.100 _— 20.41 12.12 3.41 35.94
-2.000 —_— 20.73 12.12 3.50 36.35
24 -2.000 0.100 —_—— 20.73 12.12 3.50 36.35
-2.100 _— 21.06 12.12 3.59 36.76
25 -2.100 0.100 —_— 21.06 12.12 3.59 36.76
-2.200 —-— 21.38 12.12 3.67 37.17

FORUMS8




- 31 -

(kN/m?) (kN/m?)
NoleLamy | m
26 -2.200 0.100 _— 21.38 12.12 3.67 37.17
-2.300 —_— 21.71 12.12 3.75 37.58
27 -2.300 0.100 —-—— 21.71 12.12 3.75 37.58
-2.400 _— 22.03 12.12 3.83 37.99
28 -2.400 0.100 —_— 22.03 12.12 3.83 37.99
-2.500 —_—— 22.36 12.12 3.91 38.39
29 -2.500 0.100 —_— 22.36 12.12 3.91 38.39
-2.600 —_— 22.68 12.12 3.99 38.79
30 -2.600 0.100 _— 22.68 12.12 3.99 38.79
-2.700 —_— 23.01 12.12 4.07 39.20
31 -2.700 0.100 —-—— 23.01 12.12 4.07 39.20
-2.800 _— 23.34 12.12 4.14 39.60
32 -2.800 0.100 —_— 23.34 12.12 4.14 39.60
-2.900 —_—— 23.66 12.12 4.21 39.99
33 -2.900 0.100 —_— 23.66 12.12 4.21 39.99
-3.000 —_— 23.99 12.12 4.29 40.39
34 -3.000 0.100 _— 23.99 12.12 4.29 40.39
-3.100 —_— 24.31 12.12 4.36 40.79
35 -3.100 0.100 —_—— 24.31 12.12 4.36 40.79
-3.200 _— 24.64 12.12 4._43 41.18
36 -3.200 0.100 —_— 24.64 12.12 4.43 41.18
-3.300 —_—— 24.96 12.12 4.50 41.58
37 -3.300 0.100 —_— 24.96 12.12 4.50 41.58
-3.400 —_— 25.29 12.12 4.56 41.97
38 -3.400 0.100 _— 25.29 12.12 4_56 41.97
-3.500 —_— 25.61 12.12 4.63 42 .36
39 -3.500 0.100 —_—— 25.61 12.12 4.63 42 .36
-3.600 _— 25.94 12.12 4.70 4275
40 -3.600 0.100 —_— 25.94 12.12 4.70 42.75
-3.700 —-—— 26.26 12.12 4.76 43.14
41 -3.700 0.100 —_— 26.26 12.12 4.76 43.14
-3.800 —_— 26.59 12.12 4.82 43.53
42 -3.800 0.100 _— 26.59 12.12 4.82 43.53
-3.900 —_— 26.91 12.12 4.89 43.92
43 -3.900 0.100 —_—— 26.91 12.12 4.89 43.92
-4.000 _— 27.24 12.12 4_95 44 .31
44 -4.000 | 10.000 80.00 34.61 12.12 0.00 46.73
-14.000 153.50 148.95 12.12 0.00 161.07
45 -14.000 9.300 153.50 81.45 12.12 0.00 93.57
-23.300 221.86 149.81 12.12 0.00 161.93
1.3.3
)
1)
(  =11.890m G.L.-15.890m)
(KN.m/m) (kN/m)
(Ma)  14245.19 | (Pa) 1319.59
(Mp)  17096.23 | (Pp) 1446.00
y ax Ma 1.20x%x 14245.19 = 17094 .23(kN.m/m)

FORUMS8
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2)

3)

m (G.L. 2.700)m
m (G.L.  2.000)m
m (G.L. -4.000)m
m (G.L. -16.000)m
( - ) m 18.700
( ) m 18.000
( - ) m 12.000
2. 700 2.700
-4. 000
80.09/
/
/
/
/
()] o
S / S
S / =
/
/
/
/
150. 00 153. 32
S 150. 00/ \86. 12 S
<o <o
o 164. 00/ \ 100, 12 o
(KN.m/m) (kN/m)
(Ma)  14433.29 | (Pa) 1330.56
(Mp)  17404.80 | (Pp) 1464.00
y ax Ma 1.20x  14433.29 = 17319.95(kN.m/m)
Mp vy ax Ma 17404 .80 17319.95 ...0K
)
pl p2 h = (pl p2)x h/2
=( ) (W/3)x (p1 2x p2)/(pl p2)
No h pa Pa y Ma
6L |y | e KN/ m KN.m/m
1 1.200 | 0.500 12.59 8.05 0.268 2.16
0.700 19.61
2 0.700 | 0.700 15.62 14.11 0.876 12.36
0.000 24.69
3 0.000 | 0.100 25.89 2.64 1.250 3.31
-0.100 26.98
4 -0.100 | 0.100 26.98 2.73 1.350 3.69
-0.200 27.62

FORUMS8
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No h pa Pa y Ma
GLaM | ) | ke KN/m n KN.m/m

5| -0.200| 0.100| 27.62 2.79|  1.450 4.05
~0.300 28.18

6| -0.300| 0.100| 28.18 2.84|  1.550 4.41
~0-400 28.70

7| -0.400| 0.100| 28.70 2.90| 1.650 4.78
~0.500 29.20

8| -0.500| 0.100| 29.20 2.94| 1.750 5.15
~0.600 29.68

9| -0.600| 0.100| 29.68 2.99| 1.850 5.53
~0.700 30.15

10| -0.700| 0.100| 30.15 3.04| 1.950 5.92
~0.800 30.60

11| -0.800| 0.100| 30.60 3.08| 2.050 6.32
~0.900 31.05

12| -0.900| 0.100| 31.05 3.13|  2.150 6.72
~1.000 31.49

13| -1.000| 0.100| 31.49 3.17|  2.250 7.13
-17100 31.93

14| -1.100| 0.100| 31.93 3.21|  2.350 7.55
12200 32.35

15| -1.200| 0.100| 32.35 3.26|  2.450 7.98
~1.300 32.78

16| -1.300| 0.100| 32.78 3.30|  2.550 8.41
~1.400 33.20

17| -1.400 | 0.100| 33.20 3.34|  2.650 8.85
~17500 33.61

18| -1.500| 0.100| 33.61 3.38|  2.750 9.30
-1.600 34.02

19| -1.600| 0.100| 34.02 3.42| 2.850 9.76
~1.700 34.43

20| -1.700| 0.100| 34.43 3.46| 2.950 10.22
~1.800 34.84

21| -1.800| 0.100| 34.84 3.50 |  3.050 10.69
~17000 35.24

22| -1.900| 0.100| 35.24 3.54|  3.150 11.17
-2.000 35.65

23| -2.000| 0.100| 35.65 3.58|  3.250 11.65
20100 36.05

24| -2.100| 0.100| 36.05 3.62|  3.350 12.14
~2.200 36.44

25| -2.200| 0.100| 36.44 3.66|  3.450 12.64
20300 36.84

26| -2.300| 0.100| 36.84 3.70 |  3.550 13.15
-2.200 37.23

27| -2.400| 0.100| 37.23 3.74|  3.650 13.66
~2.500 37.62

28| -2.500| 0.100| 37.62 3.78 |  3.750 14.18
~2.600 38.01

20| -2.600| 0.100| 38.01 3.82| 3.850 14.71
~2.700 38.40

FORUMS8
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No h pa Pa y Ma
GLaM | ) | ke KN/m n KN.m/m

30| -2.700| 0.100| 38.40 3.86| 3.950 15.25
~2.800 38.79

31| -2.800| 0.100| 38.79 3.90 | 4.050 15.79
~2.900 39.18

32| -2.900| 0.100| 39.18 3.94| 4.150 16.34
~3.000 39.56

33| -3.000| 0.100| 39.56 3.98| 4.250 16.90
~3.100 39.95

34| -3.100| 0.100| 39.95 4.01|  4.350 17.46
~3.200 40.33

35| -3.200| 0.100| 40.33 4.05 |  4.450 18.03
~3.300 40.71

36| -3.300| 0.100| 40.71 4.09|  4.550 18.61
~3.400 41.09

37| -3.400 | 0.100| 41.09 4.13|  4.650 19.20
~3.500 41.47

38| -3.500| 0.100| 41.47 417 |  4.750 19.79
~3.600 41.85

39| -3.600| 0.100| 41.85 4.20|  4.850 20.39
~3.700 42.23

40| -3.700| 0.100| 42.23 4.24 | 4.950 21.00
~3.800 42.60

41| -3.800| 0.100| 42.60 4.28| 5.050 21.61
~3.900 42.98

42| -3.900| 0.100| 42.98 4.32|  5.150 22.23
~4.000 4335

43| -4.000 | 10.000 | 42.75| 980.39 | 11.140 | 10921.36
~14.000 153.32

44| -14.000 | 2.000| 86.12| 186.24| 16.225| 3021.75
-16.000 100.12

s 1330.56 14433.29

No h pp Pp y Mp
GLaM | ) | ks KN/m m KN.m/m

1| -4.000 | 10.000| 80.00 | 1150.00 | 10.707 | 12313.33

~14.000 150.00

2| -14.000 | 2.000| 150.00| 314.00| 16.215| 5091.47
~16.000 164.00

s 1464.00 17404.80

FORUMS8
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@
1)
—4. 000 S
< S
o
m (G.L.  2.700)m
m (6.L. 1.200)m
m (G.L. -4.000)m
m 5.200
Mmax kN.m/m 109.44
) m 2.800(G.L. -1.600)m
Smax kN/m 94.99
( ) m 5.200(G.L. -4.000)m
RA kN/m 83.46
RB kN/m 94.99
d max m 0.0021
( ) ( ) m 2.700(G.L. -1.500)m
2)
ol oLy |
(KN/m*) (KN/m*) (KN/m?)
1 2.700 1.500 0.00 1.93 1.93
1.200 0.00 12.86 12.86
2 1.200 | 0.500 0.00 13.11 13.11
0.700 0.00 20.23 20.23
3 0.700 | 0.700 0.00 16.04 16.04
0.000 0.00 25.21 25.21
4 0.000 | 0.100 0.00 26.35 26.35
-0.100 0.00 27.46 27.46
5 -0.100 | 0.100 0.00 27.46 27.46
-0.200 0.00 28.11 28.11
6 -0.200 | 0.100 0.00 28.11 28.11
-0.300 0.00 28.68 28.68

FORUMS8
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No
GLam | M | ) KN/ N/
71 -0.300 | 0.100 0.00 28.68 28.68
~0.400 0.00 29.22 29.22
8| -0.400| 0.100 0.00 29.22 29.22
~0.500 0.00 20.73 20.73
9| -0.500| 0.100 0.00 29.73 29.73
~0.600 0.00 30.22 30.22
10| -0.600 | 0.100 0.00 30.22 30.22
~0.700 0.00 30.70 30.70
11| -0.700 | 0.100 0.00 30.70 30.70
~0.800 0.00 31.16 31.16
12| -0.800 | 0.100 0.00 31.16 31.16
~0.900 0.00 3162 31,62
13| -0.900 | 0.100 0.00 31.62 31.62
~1.000 0.00 32.08 32.08
14| -1.000 | 0.100 0.00 32.08 32.08
~1.100 0.00 3252 32052
15| -1.100 | 0.100 0.00 32.52 32.52
-1.200 0.00 32.96 32.96
16| -1.200 | 0.100 0.00 32.96 32.96
~1.300 0.00 33.40 33.40
17| -1.300 | 0.100 0.00 33.40 33.40
~1.400 0.00 33.83 33.83
18| -1.400 | 0.100 0.00 33.83 33.83
~1.500 0.00 3426 34.26
19| -1.500 | 0.100 0.00 34.26 34.26
~1.600 0.00 3468 3468
20| -1.600| 0.100 0.00 34.68 34.68
-1.700 0.00 3510 35.10
21| -1.700 | 0.100 0.00 35.10 35.10
~1.800 0.00 35.52 35.52
22| -1.800| 0.100 0.00 35.52 35.52
~1.900 0.00 35.04 35.04
23| -1.900 | 0.100 0.00 35.94 35.94
~2.000 0.00 36.35 36.35
24| -2.000| 0.100 0.00 36.35 36.35
~2.100 0.00 36.76 36.76
25| -2.100 | 0.100 0.00 36.76 36.76
~2.200 0.00 37.17 37.17
26| -2.200| 0.100 0.00 37.17 37.17
~2.300 0.00 37.58 37.58
27| -2.300 | 0.100 0.00 37.58 37.58
~2.400 0.00 37.99 37.99
28| -2.400 | 0.100 0.00 37.99 37.99
~2.500 0.00 3839 3839
20| -2.500 | 0.100 0.00 38.39 38.39
~2.600 0.00 38.79 38.79
30| -2.600| 0.100 0.00 38.79 38.79
~2.700 0.00 3920 3920
31| -2.700 | 0.100 0.00 39.20 39.20
~2.800 0.00 39.60 39.60

FORUMS8
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No
GLam | M | ) KN/ N/
32| -2.800| 0.100 0.00 39.60 39.60
~2.900 0.00 39.99 39.99
33| -2.900 | 0.100 0.00 39.99 39.99
~3.000 0.00 40.39 40.39
34| -3.000| 0.100 0.00 40.39 40.39
~37100 0.00 40.79 40.79
35| -3.100 | 0.100 0.00 40.79 40.79
~3.200 0.00 41018 41018
36| -3.200| 0.100 0.00 41.18 41.18
-3.300 0.00 41,58 41.58
37| -3.300 | 0.100 0.00 41.58 41.58
~3.400 0.00 41.97 41,97
38| -3.400 | 0.100 0.00 41.97 41.97
-3.500 0.00 42.36 42.36
39| -3.500| 0.100 0.00 42.36 42.36
~3.600 0.00 42.75 42.75
40| -3.600 | 0.100 0.00 42.75 42.75
-3.700 0.00 43.14 43.14
41| -3.700 | 0.100 0.00 43.14 43.14
~3.800 0.00 43.53 43.53
42| -3.800 | 0.100 0.00 43.53 43.53
~3.900 0.00 43.92 43.92
43| -3.900 | 0.100 0.00 43.92 43.92
~4.000 0.00 44231 44231

FORUMS8
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1.3.4
D
Z
—4. 000
~ 80.09/
oe]
0]
Q
<f
114, 29
m (G.L. 2.700)m
m (G.L. 2.000)m
m (G.L. 1.200)m
m (G.L. -4.000)m
m (G.L. -8.888)m
m (G.L. -16.000)m
( - ) m 18.700
( - ) m 18.000
_ ) m 12.000
D m 4.888
y a m 1.20
y ax D m 5.866(G.L. -9.866)m
12.000 5.866...0K
Mmax kN.m/m 133.14
m 3.100(G.L. -1.900)m
Mmin kN.m/m -58.87
m 8.000(G.L. -6.800)m
M=0 ( m 5.846(G.L. -4.646)m
RA kN/m 90.36
RB kN/m -49.33
o max m 0.0047
( ) ( m 3.500(G.L. -2.300)m
@
]
X
(m (m
1 0.0000 2.7000
2 0.0000 2.2000
3 0.0000 1.7000
4 0.0000 1.2000
5 0.0000 0.7000
6 0.0000 0.2000
7 0.0000 0.0000
8 0.0000 -0.1000

FORUMS8
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X Y
(m) (m
9 0.0000 -0.2000
10 0.0000 -0.3000
11 0.0000 -0.4000
12 0.0000 -0.5000
13 0.0000 -0.6000
14 0.0000 -0.7000
15 0.0000 -0.8000
16 0.0000 -0.9000
17 0.0000 -1.0000
18 0.0000 -1.1000
19 0.0000 -1.2000
20 0.0000 -1.3000
21 0.0000 -1.4000
22 0.0000 -1.5000
23 0.0000 -1.6000
24 0.0000 -1.7000
25 0.0000 -1.8000
26 0.0000 -1.9000
27 0.0000 -2.0000
28 0.0000 -2.1000
29 0.0000 -2.2000
30 0.0000 -2.3000
31 0.0000 -2.4000
32 0.0000 -2.5000
33 0.0000 -2.6000
34 0.0000 -2.7000
35 0.0000 -2.8000
36 0.0000 -2.9000
37 0.0000 -3.0000
38 0.0000 -3.1000
39 0.0000 -3.2000
40 0.0000 -3.3000
41 0.0000 -3.4000
42 0.0000 -3.5000
43 0.0000 -3.6000
44 0.0000 -3.7000
45 0.0000 -3.8000
46 0.0000 -3.9000
47 0.0000 -4.0000
48 0.0000 -4.3000
49 0.0000 -4._8000
50 0.0000 -5.3000
51 0.0000 -5.8000
52 0.0000 -6.3000
53 0.0000 -6.8000
54 0.0000 -7.3000
55 0.0000 -7.8000
56 0.0000 -8.3000
57 0.0000 -8.8000
58 0.0000 -8.8880
E(KN/m?) a(/ )
1 2.000000E+008 0.000000E+000
2
A(m?) 1(m)
1 2.453333E-002 7.306667E-004

FORUMS8
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i ] (m ]
1 1 2 0.5000 1 1
2 2 3 0.5000 1 1
3 3 4 0.5000 1 1
4 4 5 0.5000 1 1
5 5 6 0.5000 1 1
6 6 7 0.2000 1 1
7 7 8 0.1000 1 1
8 8 9 0.1000 1 1
9 9 10 0.1000 1 1
10| 10 11 0.1000 1 1
11| 11 12 0.1000 1 1
12| 12 13 0.1000 1 1
13| 13 14 0.1000 1 1
14| 14 15 0.1000 1 1
15| 15 16 0.1000 1 1
16| 16 17 0.1000 1 1
17| 17 18 0.1000 1 1
18| 18 19 0.1000 1 1
19| 19 20 0.1000 1 1
200 20 21 0.1000 1 1
21| 21 22 0.1000 1 1
22| 22 23 0.1000 1 1
23| 23 24 0.1000 1 1
24| 24 25 0.1000 1 1
25| 25 26 0.1000 1 1
26| 26 27 0.1000 1 1
27| 271 28 0.1000 1 1
28| 28 29 0.1000 1 1
29 29 30 0.1000 1 1
30| 30 31 0.1000 1 1
31| 31 32 0.1000 1 1
32| 32 33 0.1000 1 1
33| 33 34 0.1000 1 1
34| 3 35 0.1000 1 1
35| 35 36 0.1000 1 1
36| 36 37 0.1000 1 1
37| 37 38 0.1000 1 1
38| 38 39 0.1000 1 1
39| 39 40 0.1000 1 1
40| 40 41 0.1000 1 1
41| 41 42 0.1000 1 1
42| 42 43 0.1000 1 1
43| 43 44 0.1000 1 1
44 | 44 45 0.1000 1 1
45 | 45 46 0.1000 1 1
46 | 46 47 0.1000 1 1
47| 471 48 0.3000 1 1
48 | 48 49 0.5000 1 1
49 | 49 50 0.5000 1 1
50| 50 51 0.5000 1 1
51| 51 52 0.5000 1 1
52| 52 53 0.5000 1 1
53| 53 54 0.5000 1 1
54| 54 55 0.5000 1 1
55| 55 56 0.5000 1 1
56| 56 57 0.5000 1 1
57| 57 58 0.0880 1 1
K Ky Ku
(KN/m) (kN/m) (kN.m/rad)
4
58
[ 1]
L ( )]

FORUMS8
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[ 1]

i i

KN/, KN/,

KN m/my | KN m/m) m (m
X 1 3 _1.93 12.33|  0.000| 0.000
X 3 4 1259 19061 | 0,000  0.000
X 5 6 _15.62 24269 | 0.000| 0.000
X 7 7 _25.89 26.98 | 0.000| 0.000
X 8 8 -26.98 27.62| 0.000| 0.000
X 9 9 27.62 28.18 | 0.000|  0.000
X 10 10 28.18 28.70| 0.000|  0.000
X 11 11 _28.70 29.20| 0.000| 0.000
X 12 1 -29.20 29.68 | 0.000| 0.000
X 13 13 -29.68 30.15| 0.000|  0.000
X 14 14 -30.15 30,60 | 0.000| 0.000
X 15 15 -30.60 31.05| 0.000| 0.000
X 16 16 31.05 31,49 | 0,000  0.000
X 17 17 _31.49 31,93 | 0,000 0.000
X 18 18 31.93 32.35| 0.000| 0.000
X 19 19 32.35 32,78 | 0.000| 0.000
X 20 20 3278 3320 0.000| 0.000
X 21 21 -33.20 3361 | 0.000| 0.000
X 22 22 _33.61 34.02| 0.000| 0.000
X 23 23 -34.02 34243 |  0.000| 0.000
X 24 24 -34.43 34.84| 0.000| 0.000
X 25 25 -34.84 35.24| 0.000| 0.000
X 26 26 _35.24 35.65| 0.000| 0.000
X 27 27 _35.65 36.05| 0.000| 0.000
X 28 28 -36.05 36.44 | 0.000|  0.000
X 29 29 -36.44 36.84| 0.000| 0.000
X 30 30 -36.84 37.23| 0,000 0.000
X 31 31 37.23 37.62| 0.000| 0.000
X 32 2 _37.62 38,01 | 0.000| 0.000
X 33 33 -38.01 38,40 | 0.000| 0.000
X 34 34 -38.40 38,79 | 0.000| 0.000
X 35 35 _38.79 39.18| 0.000| 0.000
X 36 36 39.18 39,56 | 0.000| 0.000
X 37 37 -39.56 -39.95| 0.000 | 0.000
X 38 38 -39.95 40,33 | 0.000| 0.000
X 39 39 _40.33 40,71 | 0.000|  0.000
X 40 40 4071 41209 | 0.000|  0.000
X 41 41 ~41.09 41247 | 0,000 |  0.000
X 42 42 _41.47 41285 | 0.000| 0.000
X 43 43 _41.85 42223 | 0,000 0.000
X 44 44 4223 42260 | 0.000|  0.000
X 45 45 ~42.60 42298 | 0.000| 0.000
X 46 46 _42.98 43235 | 0,000 0.000
X 47 57 _42.75 96.80 | 0.000| 0.000
X 47 57 80.00 114.22 | 0,000 |  0.000

FORUMS8
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®
D
«(mm) o v(mm) o » (mrad)

1 3.19753 0.00000 -2.12783
2 2.13357 0.00000 -2.12822
3 1.06875 0.00000 -2.13200
4 0.00000 0.00000 -2.14526
5 -1.06672 0.00000 -2.09994
6 -2.07949 0.00000 -1.93202
7 -2.45638 0.00000 -1.83410
8 -2.63708 0.00000 -1.77916
9 -2.81209 0.00000 -1.72047
10 -2.98105 0.00000 -1.65821
11 -3.14362 0.00000 -1.59258
12 -3.29946 0.00000 -1.52376
13 -3.44827 0.00000 -1.45196
14 -3.58976 0.00000 -1.37738
15 -3.72366 0.00000 -1.30023
16 -3.84973 0.00000 -1.22070
17 -3.96773 0.00000 -1.13902
18 -4.07747 0.00000 -1.05539
19 -4.17875 0.00000 -0.97003
20 -4.27142 0.00000 -0.88317
21 -4.35534 0.00000 -0.79503
22 -4.43039 0.00000 -0.70582
23 -4.49648 0.00000 -0.61579
24 -4_55353 0.00000 -0.52515
25 -4.60150 0.00000 -0.43416
26 -4.64036 0.00000 -0.34303
27 -4.67011 0.00000 -0.25202
28 -4.69077 0.00000 -0.16136
29 -4.70240 0.00000 -0.07130
30 -4.70506 0.00000 0.01790
31 -4.69886 0.00000 0.10601
32 -4.68390 0.00000 0.19277
33 -4.66036 0.00000 0.27792
34 -4.62838 0.00000 0.36120
35 -4.58819 0.00000 0.44235
36 -4.53999 0.00000 0.52111
37 -4.48405 0.00000 0.59721
38 -4.42065 0.00000 0.67038
39 -4.35009 0.00000 0.74035
40 -4.27270 0.00000 0.80684
41 -4.18884 0.00000 0.86958
42 -4.09891 0.00000 0.92828
43 -4.00333 0.00000 0.98267
44 -3.90253 0.00000 1.03246
45 -3.79700 0.00000 1.07737
46 -3.68723 0.00000 1.11709
47 -3.57376 0.00000 1.15134
48 -3.21673 0.00000 1.22078
49 -2.59709 0.00000 1.23943
50 -1.99322 0.00000 1.16253
51 -1.44577 0.00000 1.01829
52 -0.98172 0.00000 0.83320
53 -0.61525 0.00000 0.63200
54 -0.34857 0.00000 0.43770
55 -0.17285 0.00000 0.27157
56 -0.06903 0.00000 0.15317
57 -0.00875 0.00000 0.10028
58 0.00000 0.00000 0.09899

FORUMS8
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| |
319753
~4. 70506
2)
(n) MCKN.m) S(kN) NCKN)

1( 1- 2) |i 0.000 0.000 0.000 0.000

j 0.500 -0.385 -1.831 0.000

2( 2- 3) |1 0-000 -0.385 -1.831 0.000

j 0.500 -2.120 -5.397 0.000

3 3- 4|1 0.000 -2.120 -5.397 0.000

j 0.500 -6.071 -10.697 0.000

4C 4- 5) |1 0-000 -6.071 79.662 0.000

j 0.500 31.893 71.611 0.000

5( 5- 6) |1 0.000 31.893 71.611 0.000

j 0.500 65.476 62.179 0.000

6( 6- 7) |1 0-000 65.476 62.179 0.000

j 0.200 77.452 57.499 0.000

7C 7- 8) |1 0.000 77.452 57.499 0.000

j 0.100 83.071 54.856 0.000

8( 8- 9) |1 0.000 83.071 54.856 0.000

j 0.100 88.421 52.126 0.000

9( 9- 10) | i 0.000 88.421 52.126 0.000

j 0.100 93.494 49.335 0.000

10( 10- 11) | i 0.000 93.494 49.335 0.000
j 0.100 98.286 46.491 0.000

11( 11- 12) | i 0.000 98.286 46.491 0.000
j 0.100 102.791 43.596 0.000

12( 12- 13) | i 0.000 102.791 43.596 0.000
j 0.100 107.003 40.652 0.000

FORUMS8




- 44 -

) MCKN.m) S(kN) NCKN)
13( 13- 14) | i 0.000 107.003 40.652 0.000
j 0.100 110.919 37.660 0.000
14( 14- 15) | i 0.000 110.919 37.660 0.000
j 0.100 114.534 34.622 0.000
15( 15- 16) | 1 0.000 114.534 34.622 0-000
j 0.100 117.842 31.539 0.000
16( 16- 17) | i 0.000 117.842 31.539 0.000
j 0.100 120.840 28.412 0.000
17( 17- 18) | i 0.000 120.840 28.412 0-000
j 0.100 123.523 25.241 0.000
18( 18- 19) | i 0.000 123.523 25.241 0.000
j 0.100 125.887 22.027 0.000
19( 19- 20) | i 0.000 125.887 22.027 0-000
j 0.100 127.927 18.771 0.000
20( 20- 21) | i 0.000 127.927 18.771 0.000
j 0.100 129.640 15.472 0.000
21( 21- 22) |1 0.000 129.640 15.472 0.000
j 0.100 131.020 12.132 0.000
22( 22- 23) | i 0.000 131.020 12.132 0.000
j 0.100 132.065 8.750 0.000
23( 23- 24) |1 0.000 132.065 8.750 0.000
j 0.100 132.769 5.327 0.000
24( 24- 25) | i 0.000 132.769 5.327 0.000
j 0.100 133.129 1.863 0.000
25( 25- 26) | 0.000 133.129 1.863 0.000
j 0.100 133.140 -1.641 0.000
26( 26- 27) | i 0.000 133.140 -1.641 0.000
j 0.100 132.799 -5.186 0.000
27( 27- 28) | 0.000 132.799 -5.186 0.000
j 0.100 132.102 -8.770 0.000
28( 28- 29) | i 0.000 132.102 -8.770 0.000
j 0.100 131.044 ~12.395 0.000
29( 29- 30) | 0.000 131.044 -12.395 0.000
j 0.100 129.622 -16.059 0.000
30( 30- 31) | i 0.000 129.622 -16.059 0.000
j 0.100 127.831 -19.762 0.000
31( 31- 32) |1 0.000 127.831 -19.762 0-000
j 0.100 125.668 -23.505 0.000
32( 32- 33) | i 0.000 125.668 ~23.505 0-000
j 0.100 123.129 -27.287 0.000
33( 33- 34) |1 0.000 123.129 ~27.287 0-000
j 0.100 120.209 ~31.108 0.000
34( 34- 35) | 0.000 120.209 ~31.108 0.000
j 0.100 116.906 ~34.967 0.000
35( 35- 36) |1 0.000 116.906 ~34.967 0.000
j 0.100 113.215 -38.866 0.000
36( 36- 37) | i 0.000 113.215 -38.866 0.000
j 0.100 109.131 ~42.802 0.000
37( 37- 38) |1 0.000 109.131 ~42.802 0000
j 0.100 104.653 ~46.778 0.000
38( 38- 39) | i 0.000 104.653 ~46.778 0.000
j 0.100 99.775 -50.791 0.000
39( 39- 40) |1 0.000 99.775 -50.791 0.000
j 0.100 94.493 -54.843 0.000
40( 40- 41) |7 0.000 94.493 -54.843 0.000
j 0.100 88.805 -58.933 0.000
41( 41- 42) |1 0.000 88.805 -58.933 0.000
j 0.100 82.705 -63.061 0.000
42( 42- 43) |1 0.000 82.705 -63.061 0.000
j 0.100 76.191 -67.227 0.000
43( 43- 44) |1 0.000 76.191 ~67.227 0-000
j 0.100 69.259 71.431 0.000
44( 44- 45) | 0.000 69.259 ~71.431 0.000
j 0.100 61.904 ~75.672 0.000
45( 45- 46) |1 0.000 61.904 ~75.672 0.000
j 0.100 54.123 ~79.951 0.000
46( 46- 47) |1 0.000 54.123 ~79.951 0.000
j 0.100 45.912 -84.268 0.000
47( 47- 48) |1 0.000 45.912 -84.268 0.000
j 0.300 22.290 -73.277 0.000
48( 48- 49) |1 0.000 22.290 -73.277 0.000
j 0.500 -9.929 -55.769 0.000
49( 49- 50) | 0.000 -9.929 -55.769 0.000
j 0.500 -33.648 -39.276 0.000
50( 50- 51) | i 0.000 -33.648 -39.276 0.000
j 0.500 -49.374 -23.797 0.000
51( 51- 52) | 0-000 -49.374 ~23.797 0-000

FORUMS8
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) MCKN.m) S(kN) NCKN)
j 0.500 -57.614 -9.332 0.000
52( 52- 53) | i 0.000 -57.614 -9.332 0.000
j 0.500 -58.875 4.119 0.000
53( 53- 54) | i 0.000 -58.875 4.119 0.000
j 0.500 -53.664 16.555 0-000
54( 54- 55) | i 0.000 -53.664 16.555 0.000
j 0.500 -42.489 27.977 0.000
55( 55- 56) | i 0.000 -42.489 27.977 0.000
j 0.500 -25.856 38.385 0.000
56( 56- 57) | i 0.000 -25.856 38.385 0.000
j 0.500 -4.273 47.778 0.000
57( 57- 58) | i 0.000 -4.273 47.778 0.000
j 0.088 0.000 49.327 0.000

133. 140 |
-58. 875

FORUMS8
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—-84. 268

79. 6

FORUMS8
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1.4
@
D500 t12
SKY400
D (mm) 500
a mm 250.0
Z x 10°(mm’/ ) 1424
A x 10°(mm’/ ) 119.60
)
Mq 1 Na
W - W - D+a
IR 720 oW /) M) = (1. 0m2 72V OWrif /) X 1000
Mx 10°(N.mm/ ) Nx 10°(N/ )
90.30 0.00
( ) 99.86 0.00
®)
0= Va0
My X< 10° N X 10°
0o = +
7ZX10° AX10°
O y (N/mm?)
Oy Yoy *® Oy
Y oy
O (N/mm?)
(N/mm?)
Y a
Z (cm’/ )
A (cm*/ )
0 w(N/mm®) y .0 (N/mm%)
Y oy O w« O w Y a (0} Y O
1.00 235.0 235.0 ( 1.00 63.4 63.4 OK
( )| 1.00 235.0 235.0 | 1.12 70.1 78.6 OK

FORUMS8
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2.1
2.1.1
(€D H
2 : 2.400 (m)
(€)) -SHK490
®
—————— H 400x 400x 13x 21 H 400x 400x 13x 21
m G.L. 2.700
m G.L. 2.000
m G.L. 1.200
m G.L. 1.000
a 25.00 25.00
m G.L.-14.767 G.L. -7.969
m 18.500 11.000
Ao cm’/ 218.70 218.70
lo cm/ 66600 66600
Z0 cm’/ 3330 3330
A cm’/ 204.19 204.19
| cm/ 62482 62482
z cm’/ 3133 3133
®)
:30
:0.020 mm/
:0.020x 30 = 0.600 mm
Vi 1 £ -

A= 2tfB + tw(H - 2tf)
W2 E— A > b

I =

Wrim bRk

B
tw
tf

H - H - 2t0)°X (B - tw)

12

H/2

(cm)
(cm)
(cm)
(cm)

H = 40.00 cm

B = 40.00 cm

tw = 1.30 cm

:tf = 2.10 cm
A"= 214.54 cm’/
:17= 65362 cmY/

FORUMS8
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Z"= 3268 cm*/

At =0.06 cm

H-2At =39.88 cm
B -2At=39.88 cm
tw - 2At =1.18 cm
tf - 2At = 1.98 cm

A" = 200.31 cm¥/
1" = 61320 cm?/
- Z" = 3075 cm¥/
J& 1% W T A -
N 200. 31 ,
A = A = X218.70 = 204.19 cm’
AN, 214,54 e/
JEEZWIm2KE— A B
r 61320
[=—1I, = X 66600 = 62482 cm'/A
I, 65362
JE B Z WA
7 3075
7 = Zo = —— X 3330 = 3133 cn’
7,7 3268 en/ A&
)
:30
:0.020 mm/

:0.020x 30 = 0.600 mm

Vi 1 i -
A= 2tfB + tw(H - 2tf)
W2k e — A > b
BH - (H - 2t£)'X (B - tw)
12

I:

LI E
L
H/2

H (cm)
B (cm)
tw (cm)
tf (cm)

H = 40.00 cm

B = 40.00 cm

tw = 1.30 cm

:tf = 2.10 cm
A"= 214.54 cm*/
:1"= 65362 cm‘/
7%= 3268 cm*/

At =0.06 cm
H-2At =39.88 cm

FORUMS8
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B -2At =239.88 cm
tw-2At=1.18 cm
tf - 2At = 1.98 cm

A" = 200.31 cm’/

1" = 61320 cm*/
: Z" = 3075 cm¥/
i e TR
N 200. 31 .
A= —p = X 218.70 = 204.19 cm’
AL 21454 o'/
JE R BWm2kE— A > b
r 61320
[ = —1, = X 66600 = 62482 cm'
I, " 65362 om'/
JEfE % W ARk
7 3075
7= =7, = —"2x3330 = 3133 cn’
7,7 3268 o'/
2.1.2
" 2.200
" 0.200
h m 2.000
b m 1.500
bl p 0.750

FORUMS8
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2.2
2.2.
€Y

D

2)

@

1
(G.L.-4.855 m)
No h o . Ldi ()
G.L.( | 6L | 0C) | 2aC) |-hi cotla
4 -4.000 -4.855 | 0.855 0.00 45.00 0.855
3 -3.300 -4.000 | 0.700 o 40.00 63.15 0.354
2 -0.451 -3.300 | 2.849 o 40.00 63.15 1.442
1 2.200 -0.451 | 2.651 30.00 56.86 1.731
2z 7.055 4.382
Ldmin
Ldmin = Z hi cotl a + bl =4.382 +0.750 =5.132(m)
b1: (m)
Ld =5.132(m)
Ld =10.000(m)  Ldmin =5.132(m)... OK
Ldmin=b. 132
La=4. 382

TE FE#fE=10. 000

FORUMS8
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2.2.2
1
( )
Pl = Vsin 0 »+ Hcos 0,
sin( 0.+ 05)
~231.12Xsin25. 00 + 210. 98X cos25. 00
sin(25.00 + 25.00)
= 377.12 kN
Py = Vsin 6 ,— Hcos 6,
sin( 6.+ 0,)
~231.12Xsin25. 00 — 210. 98 X cos25. 00
sin(25.00 + 25.00)
= -122.11 kN
) (Vo)
Vo)
Vo= v XQ + y . XWA y XW,
= 1.00X36.00 + 1.00X32.40 + 1.00X162.72
= 231.12 kN
Q = gox bx L = 10.00x% 1.50x 2.400 =36.00 (kN)
W=y «x bx Hx L = 18.00x 1.50x 0.50x 2.400 =32.40 (kN)
We=y ¢x bx Hx L = 22.60x 1.50x 2.00x 2.400 =162.72 (kN)
Qo: (kN/m*)
b : (m)
He: (m
H: (m
L :
Y s: (kN/m?)
Y ot (KN/m®)
Y o
Y us-
Y w:
©)) (Ho)
(Ho)

He= Hi= 210. 98 kN

2.2.3
€Y

g A W N -

P,.= 377.12 kN

Hu= Rax L =87.91x 2.40 =210.98 (kN)

FORUMS8
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_— H 400x 400x 13x 21

a 25.00
m G.L. 2.000
m G.L. 0.200
m G.L. 0.200
m G.L.-14.767
m 18.500
@
Ru = yrwXRut vy e XRo= 0.45X27.48 + 0.45X813. 41
= 378.40 kN
Y ro,Y rf:
Ru: (kN)
Re: (kN)
1
H B A:Hzx B ah Ap:cxz hx A | U=2(H+B)
(m) (m) (m) (%) (m) (m)
0.399 0.399 0.159 [ 0.900 0.1431 1.5952
2
R, = 6¢,A= 6X32.00 X0.1431
= 27.48 kN
Cp: (KN/m?)
A (m)
3
R: = X (rasXLi) Xseca XU =462. 13 X sec25. 0000 X 1. 5952
= 813.41 kN
Fo- | (KN/m*)
S aa= 2N| Ni i N
Iraa= Cai Cai 1
Ca 100 Cai= Cai
Ca 100 C.i= 100 kN/m?)
No Li N fi Li fi
(m) N c (kN/TTP) (kN/m)
1 0.200 -3.300 [ 3.500 | 13.60 ———- 27.20 95.20
2 -3.300 -14.767 | 11.467 | ---- 32.00 32.00 366.93
2z 14.967 462.13
®3)
y.P= 1.00X377.12 = 377.12 kN = 378.40 kN  OK
Y at
2.2.4
@

FORUMS8



- 54 -

1
2
3
4 Py= -122.11 kN (P 0.0 )
5
——- H 400x 400x 13x 21
o 25.00
m G.L. 2.000
m G.L. 0.200
m G.L. 0.200
m G.L. -7.969
m 11.000
@
Rae= v e XRu= 0.40X430.56 = 172.22 kN
Y -
Ruec: ( )
1)
H B A=H2>< B ah Ap=0(2 hx A | U=2(H+B)
(m (m (m) (D) m (m
0.399 0.399 -— -— -— 1.5952
2
Pu=0.00kN
3
R: = X (rsaXLi) Xseca XU =244. 62 X sec25. 0000 X 1. 5952
= 430. 56 kN
Fo2 | (kN/m?)
Traa= 2N| Ni i N
I'ni= Cai Cai
Cs 100 Cai= Cai
Ca 100 Cai= 100 kN/m?)
No Li N fi Li fi
(m) N c (kN/T) (kN/m)
1 0.200 -3.300 | 3.500 | 13.60 -— 27.20 95.20
2 -3.300 -7.969 4.669 | ---- 32.00 32.00 149.42
> 8.169 244 .62
€))
yP= 1.00X122.11 = 122.11 kN = 172.22 kN 0K

Y e

FORUMS8
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2.3 ( )
2.3.1
€H)
1)
(G.L.-4.646 m)
No h . . Ldi (m)
G.L.(m) | G.L.qmy| m 9C) | 2aC) |ohi cotea
5 -4.000 -4 .646 0.646 0.00 40.68 0.752
4 -3.300 -4.000 0.700 o 40.00 63.15 0.354
3 -0.383 -3.300 2.917 o 40.00 63.15 1.477
2 1.200 -0.383 1.583 30.00 56.86 1.033
1 2.200 1.200 1.000 30.00 49.20 0.863
> 6.846 4.479

2)
Ldmin
Ldmin = Z hi cotl a + bl =4.479 +0.750 =5.229(m)

bl: (m
)
Ld =5.229(m)
Ld =10.000(m)  Ldmin =5.229(m)... OK
Ldmin=5. 229
La=4. 479
G.L. 1. 200

G.L.c41 000 @4
(-

TE HE#E=10. 000

FORUMS8
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2.3.2
¢!
( )
Vsin 6 ,+ Hcos 0,
sin( 0.+ 0.)
213. 12X sin25. 00 + 239. 64 X cos2b. 00
sin(25.00 + 25.00)
401.10 kN
Vsin 6 ,— Hcos 0,
sin( 0.+ 0)
213. 12X sin2b. 00 — 239. 64 X cos2b. 00
sin(25.00 + 25.00)
= -165.95 kN
) (Vo)
D)
Vo= v XQ + y . XWA y XW,
= 1.00X18.00 + 1.00X32.40 + 1.00X162.72

P1 =

P2 =

= 213.12 kN
Q = gox bx L = 5.00x 1.50% 2.400 =18.00 (kN)
Ws=y ox bx Hx L = 18.00x 1.50x 0.50% 2.400 =32.40 (kN)
We=y ox bx Hex L = 22.60x 1.50x 2.00x 2.400 =162.72 (kN)
Qo: (kN/m*)
b : (m)
He: (m
H: (m
L : (m)
Y st (kN/m®)
Y ol (kN/m*)
Y ot
Y us-
Y
€) (Ho)
(Ho)

H= Hat+ v .He= 216.86 + 1.00X22.78= 239.64 kN
Hu= Rax L =90.36x 2.40 =216.86 (kN)
W=y X bx Hx L = 22.60x 1.50x 2.000x 2.400 =162.72 (kN)
He= Wex Kh=162.72x 0.14 =22_78 (kN)

2.3.3
€Y

Pw= 401.10 kN

g b~ WO N B

FORUMS8
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H 400x 400x 13x 21

a 25.00
m G.L. 2.000
m G.L. 0.200
m G.L. 0.200
m G.L.-14.767
m 18.500
@
Ru = ywXRutyreXRe= 0.50X30.92 + 0.50X913. 85
= 472. 38 kN
Y ro,Y rf:
Ru: (kN)
Re: (kN)
1
H B A:Hzx B ah Ap:cxz hx A | U=2(H+B)
(m) (m) (m) (%) (m) (m)
0.399 0.399 0.159 [ 0.900 0.1431 1.5952
2
R, = 6¢,A,= 6X36.00 X0.1431
= 30.92 kN
Cp: (KN/m?)
A (m)
3
R: = X (rasXLi) Xseca XU =519. 20 X sec25. 0000 X 1. 5952
= 913. 85 kN
Fo- | (KN/m*)
S aa= 2N| Ni i N
Iraa= Cai Cai 1
Ca 100 Cai= Cai
Ca 100 C.i= 100 kN/m?)
No Li N fi Li fi
(m) N c (kN/TTP) (kN/m)
1 0.200 -3.300 [ 3.500 | 15.20 ———- 30.40 106.40
2 -3.300 -14.767 | 11.467 | ---- 36.00 36.00 412.80
2z 14.967 519.20
®3)
v .Pi= 1.12X401. 10 = 449.23 kN = 472.38 kN  OK
Y at
2.3.4
@

FORUMS8



- B8 -

1
2
3
4 P2d: —165.95 kN (Pza 0.0 )
5
——- H 400x 400x 13x 21
a 25.00
m G.L. 2.000
m G.L. 0.200
m G.L. 0.200
m G.L. -7.969
m 11.000
@
Rae= v e XRu= 0.40X483.15 = 193.26 kN
Y -
Ruec: ( )
1)
H B A=H2>< B ah Ap=0(2 hx A | U=2(H+B)
(m (m (m) (D) m (m
0.399 0.399 -— -— -— 1.5952
2
Pu=0.00kN
3
R: = X (rsaXLi) Xseca XU =274. 50 X sec25. 0000 X 1. 5952
= 483. 15 kN
Fo2 | (kN/m?)
Traa= 2N| Ni i N
I'ni= Cai Cai
Cs 100 Cai= Cai
Ca 100 Cai= 100 kN/m?)
No Li N fi Li fi
(m) N c (kN/T) (kN/m)
1 0.200 -3.300 | 3.500 | 15.20 -— 30.40 106.40
2 -3.300 -7.969 4.669 | ---- 36.00 36.00 168.10
> 8.169 274.50
€))
v .Po= 1.12X165.95 = 185.86 kN = 193.26 kN  OK

Y e

FORUMS8
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2.4
@
—————— H 400x 400x 13x 21 H 400x 400x 13x 21
cm’/ 204.19 204.19
@
Nix 10°(N/ ) N2x 10°(N/ )
377.12 122.11
401.10 165.95
(©))
0 =
(N/mm?)
) (N/mm*)
(N/mm?)
1)
o w(N/mm®) y .0 (N/mm*)
Y oy O Oy Y - (0} Y O
1.00 315.0 315.0 | 1.35 18.5 0K
1.00 315.0 315.0| 1.12 19.6 oK
2)
o w(N/mm’) y .0 (N/mm?)
Y oy O Oy Y a g Y O
1.00 315.0 315.0 | 1.35 6.0 8.1 0K
1.00 315.0 315.0 | 1.12 8.1 9.1 0K

FORUMS8
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3
@
@ 44.0(mm)
(mm/ )x ( ) =0.030%x 30 = 0.9(mm)
@ 44.0 - 2x 0.9 =@ 42.2(mm)
1398.7(mm?)
: 690
:L = 2.400(m)
)
v ( )
Te= (AuXL) Xsec
v ( )
Ps
Ti= [AwXL + —| XsecO
n
Ta : (kN/ )
An: (kN/m)
0 ()
Ps :1 (kN)
n
1
T=( 87.91x 2.400)x sec 0.000 = 210.98(kN/ )
2) ( )
T=( 90.36x 2.400)x sec 0.000 = 216.86(kN/ )
3) ( )
100. 00
T=( 87.91X 2.400 + ————] Xsec 0.000 = 235. 98 (kN/A)
®)
O W= V.0
T.X 10
0 =
A
O y (N/mm?)
O ya Y oy O yx
Y oy:
O (N/mm?)
: (N/mm?)
Yac:
A = 1398.7(mm%)
o w(N/mm’) y .0 (N/mm*)
Y oy O Oy Y o} Y «C
0.60 440.0 264.0 | 1.00 150.8 150.8 OK
( ) 1.00 440.0 440.0 | 1.67 155.1 258.9 OK
( ) 1.00 440.0 440.0 | 1.67 168.7 281.8 | OK

FORUMS8
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4
@
200x 90x 8x 13.5
:SM490
@)
T, XL
Md:
10
Mq: (kN.m)
Ta: (kN7 )
L (m) L = 2.40(m)
Ta Mq
x 10N/ ) x 10°(N.mm)
210.98 50.64
( ) 216.86 52.05
( ) 235.98 56.64
€)
0w= V.0
CMX10°
ZX10°
0y (N/mm*)
0y™ YV oy X 0
Y oyt
Oy : (N/mm?)
z ( 249%x 2 = 498 cm’) 2 1 2
0 w(N/mm’) y .0 (N/mm*)
Y oy O w 0w Y . o Y 0
1.00 315.0 315.0 | 1.40 101.7 142 .4 0K
( ) 1.00 315.0 315.0 | 1.12 104.5 117.1 OK
( ) 1.00 315.0 315.0 | 1.12 113.7 127.4 OK

FORUMS8
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